p———

5 ~ Answers-ma

- [This question paper contains 8 printed pages.]

@ Your Roll No. 2.02.2-

Sr. No. of Question Paper : 263 C
Unique Paper Code : 22411501
. Name of 'fhe Paper ~ . Principles of Marketing
Name of the Course . B.Com. (Hons.) CBCS,
- Part III |
Semester | Y
‘.Dur'étion : '3 Hours Maximum Marks 275 |

hb
Instructions for Candldates:z?ka“a'}?‘h: g:ﬁ::g”bram

1. Write your Roll No. on the top 1mmed1ately on receipt

of this question paper.
7, Attempt all questions.

All parts of a question must be attempted together.

4. All questions ca.rry equal marks.

y be written 1n English or Hindi but fhe

c medlum should be used throughout the

- P.T.O.



263 . 2

s @ fow [dw |
1 mm—w%mawmmmmﬂm
CEERICARITC I

0. W T FREE 2 -
2w @ R S @ T A R S e
4. Qft TR B IFH TH 2 ',
5. @ W -TF @ S mmﬁaﬁé’rwwﬁﬁﬁﬁ |

AT R ST F AEE ¢ & B 6T |

S e

w. d, LR ; ‘
1> .{a) “The aim of marketing is to make ~s'elling
‘superfluous.” In the light of this statement expléin

N

what is marketing. - ‘ A
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(b) How does‘ change in a countries population
mix and the growth of ethnic and racial di age-
1

affect the marketer? Versity

. - (8)
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(a) “Holistic marketing acknowledges that everything
matters in marketing and a broad, integrated
perspective is often necessary.” Elaborate- the

statement. | (8).
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- (b) Explain how the marketmg of services is different

from the marketing of goods. | @)
| ﬁg.mmﬁ?%araﬁmﬁﬂvﬁaﬁaﬁ%ﬁqm%m
e o 31 :

types of buylng motxves of a
e sultable examples ‘ (7)
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(b) What is A, T scgmentation? Suggest ways to

segment the market for
(1) Mobile Phone
(i) Bicycle ‘ (4,4)
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(a) A consumer wants to purchase a Laptop. Exp‘léin |

(8)

his buying decision process.

Stgment marketing,
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3. (a) What is product mix? Explain the various product
mix strategies. .
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(b) What is the significance of packaging? What are
the main areas of concern? (8)
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(a) Differentiate between line extension and brand .

extensions. ' (8)
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(b) “Product support services help the seller augment

the product sold.” Explain - (7)
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4. (a) How does a vertical marketing system differ from

© a conventional marketing channel? Explain (7)

Waﬁaw@%ﬂﬁwmﬁm%ﬂa%%ﬁ
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~ (b) Explain the various factors which influence the

pricing decisidn of a firm? | - (8)
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(a) “Nonstore retaili :
‘ win
_than store retailing.” Explain g much faster
| (8)
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13 P . o .
5. (a) “It is five times more expensive to find new

customers than to retain existing customers.” In

the . light of this statement explain relationship
marketing? ' | . BN )
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(b) What is Integrated ma.rketi_ng communication? What
factors have led to its growth? (&)

g fa v e 37, et R A g g
wwfmdr
: OR

.' '(é(i) “Digitél'Markeﬁng in‘vo_lve's‘us‘ing several forms of
digital communication to connect with potential
customers.” Explain . O ®)
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(b) How would you design a promotion mix for a
~ shampoo for men? (7)
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esa . . .
ccountant COHCCt,’ analyz 'nd Presents the accounting apq oth
a . such 2 way as to assist the maﬂagemen er

-y meﬂt .
1. “Managt : tin the plappi,
d control. Elucidate. ng,

useful informatior
decision making a7
; Or

i the distinction between,cost control and cost reduction. Enym
Explain s

) Crate some
f the important tools/techniques of cost reduction and cost control.
of the .

The Budget Manager of a company is preparing a flexible budget for the éoming
accounting yeaf. The company _prpduces a single product. The following information
is provided:

Direct material costs Rs,120 p'crrun'i't'. Direct labour averages Rs.50 per hour and
_tequires 1.8'hours to produce one unit of the product. Salesmen are paid a

commission of Rs.10 per unit sold. Other variable selling ahd'administration

expenses are estimated as Rs.8 per-unit. Fixed sellingu and administration expenses

amount to Rs.2,50,000 per year.

Manufacturing overhead has been es
conditions of volume: . "

timated in the following amounts under given

Volu'me of produc{iﬁn&Sale (units) 12,000 - 15,0(“10l .
i ;- ' 3 Rs. Rs.
W . 2;40,000 3,00,000
el | 1,20,000 1,50,000
84,000 105,000
60,000 69,000
1,40,000 1,55,000
1,00,000 1,00,000
80,000 80,000
8,24,000 9,59,000




BT T

R R (AT AT

i e

PO

[r——————

St r eI

265A 3

Prepare a budget of total cost at 14,000 units of output.

Or

"

ABC Ltd. a newly started company wishes to prepare cash budget from January.
Prepare a cash budget for the first six months from the following estimated revenuc
and expenses.

) Selling &
Month | Total Sales | Materials | Wages ‘gggﬁ;‘:{; Distribution

‘ _ . Overheads
Jan 20,000 20,000 4,000 3,200 800
Feb 22,000 14,000 4,400 3,300 900
March 28,000 14,000 4,600 3,400 900
April 36,000 22,000 4,600 3,500 1,000
May 30,000 20,000 4,000 3,200 900
June 40,000 25,000 5,000 - 3,600 1,200

(i) Cash balance on January, 1 was Rs 10,000. -

(ii) New machinery is to be installed at Rs.20,000 on credit, to be repaid by
two equal instalments in March and April.

(iii) Sales commission at @ 5% on total sales is to be paid within a month
following actual sales.

(iv) Rs.10,000 being the amount of 2nd call may be received in March:

(v) Share premium amounting to Rs.2,000 is also obtainable with the 2nd call

(vi) Period of credit allowed by suppliers — 2 months

(vii) Period of credit allowed to customers — 1 month

(viii) Delay in payment of overheads — 1 month

(i) Delay in payment of wages = 11 MEALL

(x) Assume cash sales to b¢ 50% of total sales

"PT.O.
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and stand

; 1ct ard costing g : g
265A duces 8 single prodt L ) g system ig followeg ;,
- r _ ~ g
3. SP Liiets The standard cost card of the product shows the following cost
' {zation.
the organ”

ur per unit

f matcrial and labo
0

Particulars
Direct material$ 20 kg.

16 per hour) ‘ 64

Direct labour (4

Budgeted output for the third quarter of a year was 2,000 units. Actual output
udge

is 1.800 units. Actual costs for the quarter are as follows:

Production and Sale | 2,000 units. 1,800 qnits

Direct Materials 10,000 Kg.@ Rs.2 per Kg 10,500 Kg.@ Rs.2.50 per Kg |

Direct Laboﬁr ~ | 8,000 hoﬁrs @Rs.16 per hour 7,400 @Rs.18 per hour

" You are required to calculate :
(1) Material Cost Vari_ancq
(1) Méteri_al Price Variancg
A(ii,i) Material Usage Variance . -
(iv) Labour Cost Variance |

V) Labour Rate Variance

(vi) Labour Efﬁciency Variance

Material ) |
A _lantity (kgs.) Rate per kg:(Rs.)
B . 4 ‘ 6
el 8 ) 4
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During the April, 2022, 1,000 kgs. of the product wer¢ PrOd“CCd‘ The actual
consumption of material was as under:

Material Quantity (kgs.) Rate per kg.(Rs.)
A 500 ¥/
B 760 5

You are required to calculate :
(1) Material Cost Variance
(ii) Material Price Variance

(iii) Material Usage Variance

(iv) Material Mix Valri‘a’nce‘

(v) Material Yeild Variance

" 4. (a) What do mean by P/V ratio. Discuss. its importance. How can it be

improved? o o 5)

“(b) ABC manufacturing company provides you the following financial information
about their spectacles frames business which they started two years agQ:

-

) ————’/—T—i Financial Year ~ Financial Year
2020-21 (Rs.) 202122 (Rs)
Total Sales 40,000 60,000
Towl Cost — 35,500 43,200

" You ar¢ required to compute
(i) P/V ratio

(ii) Break-even sales level
A (10)
(iii) Margin of safety

Or

PT.O.
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1y producces three grades of steel namely Super, Good and
1
SR Stee

f these three grades of stcel are high in demand and the company
lach 0 :
Normal. E

AN ) 'S 1S 1 “ S T

bl mvcrsidn cost per unit is at Rs. 100 per process hour. The fixed
~ N N ~(
The vanablc €

ition, the Cost Accountant wag able to extract the
'« Rs.24.00.000. In addi ;
cost is Rs.24,00,

following information about the three grades of steel.
Ol ;

Super Good Normal
Product |

Budgeted Production (units) 3,000 3,000 3,000
Selling price per unit (Rs.) 4,500 3,600 3,000
Direct Materials cost per unit (Rs.) 1,200 1,500 1,400
Process hours per unit 20 12 _ 10

Required :

(1) Determine the contribution margin per unit and statement of profitability at
budgeted operations. |

(i) Present an analysis to.management showing the relative profitability of three
grades of stee] assuming processing hours is a bottle-neck.

(i) Management wishes to im
Assuming as Per manage
exceeds 4,000 upitg and a

10 be produceq. Find the
profit thereop

Prove profitability by changing the product mix.
ment policy the production of any product cannot
minimum of 1,000 units of each grade of steel has

Most profitable mix as per management policy and

A company ¢ , : : 53
ponY currenily OPerating at g0y, capacity has the following particulars :

= N.—h‘
m‘\\\ Rs.
—

Direct materialy | 32,00,000

Direct Jaboyr 10,00,000

Yafiable ovemd?““”%\___\\my 4,00,000
M’““ds\ 2,00,000

13,00,000
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J1d utilise half the capacity of the
ken in full and exccuted at
| totally. The alternatives

An export order. has been received that wot
factory. The order cannot be split, i.c., it has to be ta
10% below the normal domestic prices, or rejectec
available to the management are :

(1) Reject the order and continue with the domestic sales only (as at present);
or ’

(i) Accept the order, split capacity between overseas and domestic sales and

turn away excess domestic demand
Prepare, a comprchensive statement of profitability and suggest the best
alternative.

Or

Briefly explain the any two of the following statements :
(i) Responsibility accounting is an important device for control.
(ii) Performance of a division can be measured on number of criteria.

(iv) Marginal costing and differential costing is one and same technique.
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ﬁaﬁﬂﬁmﬁﬂﬁmmﬁﬁwmmrmmm%:

AT
mpits) 12,000 m
Expenses Rs. Rs.
Indirect materials 2,40,000 ’ 3,00&);
Indirect labour 1,20,000 1,50,000
Inspection ] 84,000 1,05,000
Maintenance 60,000 69,000
Supervision 1,40,000 1,55,000
Depreciation- plant & equipment 1,00,000 ‘1,00,0()0
Engineering services | 80,000 80,000
| Totalmanﬁfacturingoverhead . 8,24,000 49,5'9,000

14,000 I F IS R Fl AN A7 T Jaw B

a1

@ 2 5 0 et 3 e e e e e

Month | Tota Sales i P . YT
Matenals Wages : Or\?::}lg:;: Distribution
- e X v Overheads
;000 20,000 4,000 )
— 00 | 4000 3,200 800
_ 22,000 14,000 . 4
Vot T | ,400 3,300 900
000 1 [
April 36,000 | e e -
e ) 22,000 |
I T . BT
e ———— 2 y 0
e | are | 4000 3,200 900 5
L 7 | 25,000 5,000 3,600 1,200
. » - -
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(i) 1 99ad = THT A9 % 10,0001
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.

Particulars
| Direct materials (20 kg. @ Rs. 2 per kg) , 40
Direct labour (4 hours @ Rs. 16 per hour) 64

wﬁaﬁmﬁmﬁ%mmmz oooaﬁzmnmﬁmmleoouﬁz
2\ oot & fg AT WA T VAR 2 |

Production and Sale | 2,000 units 1,800 units

Direct Materials 10,000 Kg.@ Rs.2 perKg 10,500 Kg.@ Rs.2.50 per Kg

Direct Labour 8,000 hoprs @Rs.16 per hour | 7,400 @Rs.18 per hour

- PTO.
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Material Quantity (kgs.) Rate per kg, (Rs.)

A : 500 7

B , 760 ' S
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o () ﬁ/ﬁmémmmmmﬁﬁmmmﬁﬁwmw
| Hehal B7 - (5)
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Financial Year Financial Year
~ 2020-21 (Rs.) 2021-22 (Rs.)
Total Sales = - ‘ - .40,000 N 60,000 .
Total Cost T - 35500 23,200 |
HTH AUHT HAL R
(i) /Q Frg

(i) e % B el TR
(i) R R 10 |
E wm@amﬁ@a%mazgmggaﬂ?mﬁamﬁ%l@aéﬁﬁ#ﬁaﬁ%
: u@lﬁﬁﬂmm%sﬂtm&mﬁmm% I F A T B ARE
a%qasaﬁ#%na;ﬁwo%mwmm@%mﬁuﬁaqﬁqﬁmmm

100 T Wiy wiwar we 2 FifFm wEa 24,00,000 TR 2 TEH FEwE, ai SEFRYE
: Fﬂﬂ%iﬁﬁ/a@a}-aﬁﬁﬁwﬁrﬁaﬂmﬂmﬂmﬁ%ﬁm oM

l;r;t)duct S A " Super COOd l Normal

- Bu-dgeted Production (units) 3,000 13,000 3 000
—Selling price per unit (Rs.) 4,500 | 3,600 3 000
Direct Materials cost per unit (Rs.) 1,200 | 1,500 ],400

| 20 12 10

'-_—-—_-_‘—' -
Process hours per unit

() Wwﬁqﬁuﬁtmmﬁhaﬂrmmﬁmﬁaﬁaaﬁml
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Wmﬁwmw%mm%%

' ; @ . .
(ii) ¥ I PO SeqrET 4,000 AP A e TEN B WA B Ik e,

FaR W IJE Bl )
2 e g @ = 1,000 FRC I R I 1 VR R e
| wm%mmﬁa&mmmmaﬁm o
5 T ﬁgo%'mwmwﬁwﬂﬁ%mﬁmﬁrﬁﬁmizi
Rs.
Sales , . +32,00,000
Direct materials L 10,00,000 .
Direct labour ) o - 4,00,000 |-
Variable overheads . 2,00,000
- |-Fixed overheads 13,00,000

wﬁﬁaﬁmgm%ﬁmﬁa&mmmm'mlﬁaﬁﬁmﬁﬁ
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1. (a) “Organization Behaviour represents interactions
among individuals, groups and organization itself.”
Comment on this statement and explain the

challenges for Organizational Behaviour. (8)

T @ gt & B @ owad W Rudh
i R e e
ST

(b) Which model of Organizational behaviour depends
on the power of the boss and managerial
orientation as a part of official authority? Discus

(7

this model and its features.



o

OR

(a) What are the contributing disciplines in the field
of Organisational Behaviour? To what extent is

OB knowledge useful for mangers in facing the

emerging challenges? (8)

FTETEE TAER @ & ¥ e o e S
E?Mgﬂﬁﬁmmaﬁ#m%mm
mmﬁaﬁwﬁ%?

(b) Which model improves employee-employer

aborate this model and its main feature by giving

examples. ' - ((‘;)

El




2. (a) What is Personality? Examine the factors

determining personality by citing relevant examples.

8)

fered T &7 VGRS IO ST BaIe 3 §¢ i
T PuiRa F O FRA i T ARl

(b) Discuss the concept of Perception. What are the .

elements of perceptual process? Discuss (7)

JAUROT  (perception) I FAUROM W ?ﬁﬁ g
Wmﬁﬁw%?ﬁml

OR
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(8) What do You understand by reinforcement 11

learning‘? How doeg it help in shaping the behaviour |

of. peOple‘) Explain the positive and negatlve

| relnforcement strategies | ®)

m'ﬁwﬁkmwm—g?mﬁrﬁa}w
| ﬁmﬁﬁmm_%?wﬁtm
W@lﬁ%ﬁfﬁm‘qﬁﬁm

(b) What is meant by Value? Explain the Terminal
and instrumental value. Discuss how instrufnental

value assist in achieving end state of exiétence.
w%ﬁm%?mﬁré@w%ﬂ%aﬁ#
Y| FRaa A dfow Rafy - wm Wy ¥ T
I B WEEE @ T, W R T Hifwg

3. (a) Explain McGregor’s Theory X and Y. How i
| Thebry Y an improvement over the traditiona] view
that you can motivate employees by paying them

" more money'7 3 ‘ S - (8)

P.T.O.
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(b) What are the essential characteristics of agood

. communication? Distinguish between formal and

informal communication? (7

VEF HOS WAR D AAHEF T T 7 AuRE 3k
AR GOk & R R fe?

OR

(a)Distinguish between hygiene factors and motivatign
factors. To what extent is Herzberg’s Theory of

motivation useful in organisations? (8)

R et s S et B A S A S
T R it fow gw % oA ¥ s 87
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(b) Explain the four quadrants of Johari Window. HOW

can 1t help in improving interpersonal relations?

NG

SRR B R R g o e i T RS
W R AW T N Py e W w3 |

4. (a) Why are gro.ups formed in organisations? What

factors contribute to group cohesiveness? (8)

A 3 gy A 37 g o F B TE
AEH w27 | |

(b) “A good leader need not be a-good manager, but
an effectiver manager must have many of the
qualifies of a good leader. “Comment and

distinguish betweeni a manager and a leader (7)

“qae aﬁﬁﬁmaﬁrwmmaﬁaﬁm
78 2, Wwaﬁmﬁwmﬁm%aﬁ
»mﬁ%a@w'ﬁm‘naﬁmaﬁ?wwaﬂrw

| ‘
ﬁm % m i P.T.O.
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(a) What is meant by group dynamics? EXplain how

the small groups arise in the organisation. Also

explain the role of group norms. (8)

ﬂgﬁﬂﬁaﬁmwauraﬁ%?mﬁswm#

- e e T Sy e g

SR WF BT I AN T W AW o e W

gqaARy|

(b) Identify the leadership styles describing the
situation under which each style is useful. What

factor influences the choice of leadership style?

(7)

Riftwer e @t e A = g S o e

-w@#ﬂﬁm%lﬁqﬁﬁﬁmﬁﬁ"m *
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. (a) Defi i s |
5. (a) Define OTganization culture and also explain the

main acteristi
charactertstlcs and components of culture.
(8)

ST WEFR W R SR wor doiy T
Rlmalt o et = W

- (b) Conflict in organisations is inevitablé and to some
extent even desuable ”Elu01date this statement and

explain the dlfferent types of strategles for

R GE

resolving conflicts.

“mﬁ'ﬁ mﬁsﬁ%aﬂrwmaﬁmﬁusﬁ
%”wwaﬁwaﬁﬁqaﬂtmaﬁmaﬂ%%
ﬁqﬁﬁmmﬁwﬁﬁﬁaﬁwﬁﬁm

OR

Read the following case€ 'carefully and answer the

questions given below:’

P.T.O.
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Starbucks has gone through sigr@ificant changes in

its organizational culture. These changes are based

on issues and problems leaders like Howard

‘Schultz and Howard Behar identified. As a way

of enhancing business performance, Starbucks

instituted reforms in- its organizational culture.

Today, the company’s organizational culture is a -

distinct characteristic that builds competitive
advantage. and develops a consumer popuiati’on of
loyal Starbucks fans. Starbucks has a servant
leadership approach, which significahtly
characterizes the company’s organizational culture.

In this approach, leaders, managers and

. supervisors emphasize support for subordinates to

ensure that everyone grows in the company. This
feature of Starbucks’ organizational culture
translates to the employees-first approach. The
company highlights the importance of caring for

employees. Former Starbucks President Howard

~ Behar developed this feature of the firm’s
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organi
g Zatlonal culture because he be11eved that

emplovee
ployees who are cared for are the ones who

care ab . _
out customers. Starbucks cafés, baristas

exhibit watm frlendly bonds with each other. This

_feature of the company’s organ1zat1ona1 culture

extends to customers, who are also treated with
warmth. Through er'_nphasi_s on relationships,

Starbucks develops the coffee culture that drives

| consumer demand for the company’s'specialty"

coffee products. Starbucks encourages

- collaborative ~ efforts through effective

communication. At the cafés, baristas clearly

 communicate with each other to fulfill orders. Also,

they collaborate as teams to' make the order

fulfillment process efficient. Thus, Starbucks’

organizational culture supports efficiency in

business processe's, which contributes to quality

of service, customer experience, and business
b - ; )

cost-effectiveness.. Initially, employees had a

culture of fear to speak up to their superiors. To

P.T.O.
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address this issue, former Starbucks Premdentt
Behar mtroduced open forums to encourage
employees to ask questions and communicate Wlth
superiors. -A culture of openness developed.;
Through this feature of its organizational culture,
Starbucks empowers employees and facilitates
innovation. Starbucks has an anti-discrimination

policy that shapes' its organizational culture. This

policy prohibits any form of discrimination based

on gender, race, ethnicity, sexual orientation,
religion, age, cultural backgrounds, life experiences,
thoughts and ideas. Through this feature of the
organizational culture, Starbucks facilitates sharing
and rapport among employees, as well as innovation
based on diverse ldeas This aspect of the
company S orgamzatlonal culture also makes

customers feel welcome g3t Starbucks cafés.

(4+4+4+3)

R e Sr——
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Q“estions:

l. Analyse the Starbucks significaﬁt changes in the

0rganizationa1 culture of Starbucks Corporation.

2. Comment on the Anti-discrimination policy of the.

Starbucks that shapes its ofganizational culture.’

3. What kind of befee culture has been develop by

starbucks to attract the consumer?

4. What have been done by Starbucks President to

encourage the employees? Discuss
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